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GRAPHS OF LINEAR FUNCTIONS
WITH ABSOLUTE VALUES

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

Now I will have less distraction.
Leonard Euler after losing the use of his right eye.

Match following graphs with their equations.
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A y = |2− x| − |x + 1|+ xy = |x + 1| − |2− x| − xy = |x + 1| − |2− x|y = |x + 1|+ |2− x|y = |2− x| − |x + 1|y = −|x − 1| − |2 + x|

B y = |2− x| − |x + 1|+ xy = |x + 1| − |2− x| − xy = |x + 1| − |2− x|y = |x + 1|+ |2− x|y = |2− x| − |x + 1|y = −|x − 1| − |2 + x|

C y = |2− x| − |x + 1|+ xy = |x + 1| − |2− x| − xy = |x + 1| − |2− x|y = |x + 1|+ |2− x|y = |2− x| − |x + 1|y = −|x − 1| − |2 + x|

D y = |2− x| − |x + 1|+ xy = |x + 1| − |2− x| − xy = |x + 1| − |2− x|y = |x + 1|+ |2− x|y = |2− x| − |x + 1|y = −|x − 1| − |2 + x|

E y = |2− x| − |x + 1|+ xy = |x + 1| − |2− x| − xy = |x + 1| − |2− x|y = |x + 1|+ |2− x|y = |2− x| − |x + 1|y = −|x − 1| − |2 + x|

F y = |2− x| − |x + 1|+ xy = |x + 1| − |2− x| − xy = |x + 1| − |2− x|y = |x + 1|+ |2− x|y = |2− x| − |x + 1|y = −|x − 1| − |2 + x|



That was excellent!Awesome! Keep it up!Wow! Do your friends by any chance
call you Wolfram or maybe Alpha?

Good job, buddy!Perfect, keep it up!You made some mistakes,
but you still deserve praise.
You are so close to victory,

don’t give up!
A small step remains,

next time will be glorious!
It almost couldn’t have been better.

Almost.
You’re almost rocking.It is not so bad, but you still have
a lot to catch up on.

Wasn’t the worst, but next time eat a
piece of chocolate and it will definitely

be better.

You understand this a bit,
but you still need to practice.

Hang in there, there is space for
improvement.

Try again, practice makes perfect!That was a close shave! Study more,
next time you might not be that lucky to

pass.

It wasn’t Enigma,
so where is the problem?

Hey, it could be worse, right?You made it,
but there’s still room for improvement.

Keep trying. It will be better next time.There was a time
Einstein couldn’t count to 10 either.

Most of your answers
were unfortunately like π — irrational.

You’ll be better next time.

This is like a foreign movie to you;
you still need subtitles.

What a calamity!The awkward moment, when you finish a
math problem and your answer isn’t

even one of the choices. . . .




